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50.000 4.22 24.50 28.72 70.34 92.61 | 162.95
51.000 2.81 20.01 22.82 69.23 97.10 | 166.33
52.000 1.53 14.75 16.28 67.58 | 10237 | 169.95
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w ° WLCGKN) | Wi(kN) WCKN) P1(kN)
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e=B/2-d=2.65/2-1.29= 0.03 B/3 = 0.88
.SV+C.-B 0.60x177.01+0.00%2.65
e IS NN
'
e= 0.03 B/6 = 0.44
T Y
qlz%.(l 67:):1;76'(5)1(1&2%24): 72.09
TV 6e) 17701 6+0.04
qu_.(l o€ _ 4(17 ): 61.50 450
B B, 265 2.65 )
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1.0

1.0

1.0

1.00

1.00

0.65 b

0.50

p 1.00

[y

adh [ 0.279 J¢ )
av [ 0.102 ¢ )
vu |  18.0 |kN/m3

| 52.60 |[kN/m2 (. smx . )

Ve kN/m3 1.15
oca 1.5x o ck/4)=1.5x (18/4)= | 6.75 |N/mm2
ocat 1.5x o ck/80)=1.5x (18/80)= [ 0.34 IN/mm2

T at 1.5x o ck/100+0.15)=1.5x (18/100+0.15)=| _ 0.50 |N/mm2

kN kN kN m
1 1/2x 1.00°2x 0.50% 23.0 5.75 0.33 1.90
2 1.00x 0.65x 23.0 1495 0.82 12.26
- 3 1/2x 0.00°2x 0.00x 23.0 0.00 1.15 0.00
uh 1/2*h172*Kadh*y u 0.00 0.00 0.00
uv 1/2*n172*Kadv*y u 0.00 1.15 0.00
C ) 52.60 _ 0.50 | -26.30
3 52.60 20.70 —12.14
™M -12.14
d=="" =S _ —0.59
v - 2070 - 0591
e=B/2-d= 1.17
6cl=V/B-(l+6e/B)= 127. 4 kN/m2 N/mm2 o ca 6.75 N/mm2
6c2=V/B-(1-6e/B) = kv/m2  [0.09 N/mm2 -0 cat -0.34 N/mm2
A=BxL= | 1.15 |m2
1c=S/A= 45_74 |kN/m2 0.046 |N/mm2 tca | 0.50 |Nn/mm2
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3.0

1.0

.
w w
o o
o o

2.00
adh [ 0.279 J¢ ) WA
adv [_0.102 J¢ )

[ 18.0 |

52.60 JkN/m2( )
ve | 23.0 |kN/m3

2.15

oca 1.5x o ck/4)=1.5x (18/4)= [ 6.75 |N/mm2

ocat 1.5x o ck/80)=1.5x (18/80)= [ 0.34 |N/mm2

T at 1.5x 0o ck/100+0.15)=1.5x (18/100+0.15)=|  0.50 |N/mm2

kN kN KN m
1 1/2% 3.007°2x 0.50% 23.0 51.75 1.00 51.75
2 3.00x 0.65% 23.0 4485 1.82 81.63
~ 3 1/2% 0.007°2x 0.00% 23.0 0.00 2.15 0.00
uh 1/2*h172*Kadh*y u 10.04 0.67 -6.73
uv 1/2*h172*Kadv*y u 3.67 2.15 7.90
( ) 52.80 2.50 | -132.00
3 62.84 | 100.27 2.55
q_SM_ 255 _ =
TV 10027 -
e=B/2-d= 1.05
acl=V/B-(1+6e/B) = 182 .6|kN/m2 N/mm2 o ca 6.75 N/mm2
6c2 = V/ B-(1-6e/B) = kN/m2  [£0.09 N/mm2 -0 cat -0.34 N/mn2
A=BxL= [ 2.15 [m2
1c=S/A= 29.23 |kN/m2 N/mm2 T ca N/mm2
4.0 1.0 3.0
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F(kN/m?2)

Fsm
Fsm

F=a

N
a 0.5
M =tang g Cs
0.7
0.6
0.6
0.5
0.6
p21, 1-
1
15 12 1.0 12
B/5 B/3 B/3 B/3
/Fs | g /Fs | g /Fs /Fs
Fs 30 Fs 20 Fs 10 Fs 20
8
B
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KN/m? kN/m®)
1000 10000
600 10000
300 1000
600 -
300 -
300 - 30 50
200 - 20 30
200 200 400 15 30
100 100 200 10 15

1.5

15
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3.5
2.0
3.5
10.0
1 20

|
|
|
=10 ~q o w
G |
5 PR |
" | 2o 5 |
A | fFRTEL ¢
Is | - ) I |
B=c4m X=2m
1KN/
¢
Y KN/
KN/
¢
y  8KN/
4a=200 KN/ N=15 30

30

Wie=H



1)

20.0

6u’ 40.0
2.0

p 3.5m

TITEH, 2HORRANKET - LV RE LIS L DRELEOEEZ VS,

AalE & v=[_150.0 |m3 HIfE@EH =20m kL)
AR R w=[__21.2 |m
A S D W TS s=[__7.1 m?

SR O R & (T IS5 % Rl & friiEds L OWrm =

RO S | FRELE | BREEE | Wi

H’ (m) V (%) W (i) S ()
5=<H<I10 41.9 13.8 3.0
10=H<15 78.9 17.1 4.6
15=H <20 101.2 18.6 5. 4
%k
25=<H <30 214.3 23.9 9.0
30=H <40 238.3 24.8 9.6
40=<H <50 371. 4 28.8 12.9
50=H 500.0 31.8 15.7

3.5 0 m=26.6 0u 40 X=2 Vd=7.1 3

Vd= 2X+hd/tanfm+hd/tan6u’ xhd/2

hd

hd 1.57

hd hs
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1) BEEH

HHESEORE om=[___ 1.8 Jt/m3
N5 g=[__ 9.8 m/s2
+H%EDLE o=[__ 2.6 |t/m3
B DR c=[___0.5]
PR o=[__307
RN R fb=

2) BEIOH
taZEoBERNCL 5%, TRk v EHT 5,

F,, = 0,eh,[ {%(1 —exp (-2aH/h,sin6,)) cos? (6, —6,) Yexp (-2ax/h,) + b?dﬂ —exp (-2ax/h,)) ]

2

a=(0—1)c+1

b

(0 -De tano }

b, = 6, {tan '———" "~
w=cos B, {tan b, T

(og-1c

(0—1)c+1tan¢}

b, =cos8,{tang, -
U EDFHERERIT, LToLBh THS,

MR (A ) DT K OVFHE R R

2R X H’ m 20.0
T HEDOBREIOE X hsm | m 1.0
2R O E fu | ° 40
SEA D Tl A 5 0d o 0
EROMERLE

AEAHL D T Ui s 5 o B X m 2.0
a 0. 028
bu 0. 45
bd -0. 26
TEREDOBEHICLSA| Fsm |kNm2 105.2
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3.5
10
1 20 6 26.6
24m
X=2.0

0 u 40

Fsm=105.2KN/ 2

sm 1.0
tangp 0577 ¢ 30
Fs=1.0
KN/ 2 [0) y KN/ 3
1 35 19
30 20 18
H(KN) V(KN) (m) | M(KN m)
10+24 /2 1130.5 X=12 13566
x 3.5% 19
Fsm sm 105.2 Y=0.5 52.6
105.2 1130.5 13513.4
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S

> M/ Vv=13513.4/1130.5 11.95

12 24/2 1195 0.05

tang > V+ B />H

0.577x 1130.5+1x 24 /105.2

676.3/105.2
6.43 1.0
0.05 /16 4
/ 1+6 /

1130.5/24x  1+6x 0.05/24
47.6 ga=200KN/m?2

/ 1 6 /
1130.5/24x 1 6x 0.05/24

46.6 ga=200KN/m?2
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3.5

10
1 20 6 26.6 o 634
24m
X=2.0
6 u 40
P=20KN
3.0
tangp 0577 ¢ 30
o 20 30x 2/3
Fs=1.2
KN/ 2 [0) y KN/ 3
1 35 19
30 20 18

H Pcos o +d

20x cos

2.3KN

63.4+20
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V Psin a+d

20x sin  63.4+20

19.9KN
H(KN) V(KN) (m) | M(KN m)
10+24 /2 1130.5 X=12 13566
x 3.5x 19
PH=2.3 PV 19.9 X=22 437.8
Y=1 2.3
2.3 1150.4 14001.5
> M/Y V=14001.5/1150.4 12.17
12 242 12.17 | 0.17 /3 8.0
S tang > V+ B />H
0.577x 1150.4+1x 24 /2.3

687.8/2.3
299.0 1.2
0.17| 16
1 +PV / 1+6
1150.4/24x

4

/

1+6x 0.17/24
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2

50.0

+PV

1150.4/24%

45.9

ga=200KN/m2
/ 1 6 /
1 6x 0.17/24

ga=200KN/m2
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0.12

1.0

-29
Fs=1.436 Fsp=1.2 OK
Fs=1.083 Fsp=1.0 OK
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FRRLREHENS.5m 1:2.0

R 1/ 250
EUE =2 Fsmn= 1,438
ECETN X B 23,00 (m)
Y = 7.00 (en)
FE R = 1.00 {m)
ERE—AVF MR = 481.3 (kN =+m)
BEMT—XUM MO » 335.1 (kN m)
hstenEn GNEY DHER AITEA WA | BEA0 ATRE| HERE |
LtkNm®y (KNZmh () | (eNsm®) — RS
i wo | ww | me | e | ow | cww | om
405 2.61 178 149 1.49 2 wo | ww | me | we | sw | oo | oo
N 05 2.61 1.78 1.49 1.
1 4.00|2.36] 1.64 1.44| 1.59
32991 2,07 1.54] 1.43| 1. 80
4.07 1.79L.% 111.47 2.52
5L
) 4 45174 1.61 \1.54
P A \
, g 1 . L] 5 6 10
| [z}
‘g 7
5L S .
1 Il n L 1 1 1 !
-5 0 5 10 15 2 2% X tm
REER (BH)
= S .
FRITELREHHEHI.5m 1:2.0 @R . 1/ 20
BINEEE Fsumn= 1.083
Ao B X = 23.00 (m)
Y = 7.90 (m)
HE R = 7.00 (rn)
HERE—AVE MR = 458.1 (kN «m)
BHE-FF M0 = 423.2  (kN-m)
EEES NARE | REER WHESA WEH | BELO| KFRE SEEE| |
(kNmB) (kN )| ()| (kN /m?) — RS .
: wo | mo | mw | 1w | oo | ow e
220 170 130 112 114 2 e | ww | wew | ww | 0w | ow o
ol .20 1.70 1.30 1.12 1.
2,191 1.60 1.22| 1.09| 1.22
L 2.19}1.47| 1.15| 1.08| 1.39
2.220 133 %134 1. 11| 1.97
5 2.3 1729) 1.19({1.16) 215. 8
9 1 4 LI 10
0
(2]
8 7
-5
| L l... | - I | K i ! L
-5 0 5 10 15 20 25 X (m)

RERR (hEH)
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2-3

2-3

2-19

2-19

A A L LU

L LxA A

L Ae’

m3 Ae’ m3 x L' m
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1/6

tand
1/2

1/2

2/3
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2-20

20



£=
=]
T\ ] = /
i‘éﬁjﬁi‘%g\p p_;::I .p‘o-_O-P.q.QP © Q.Q./
o i i'Q‘a'.'o":' ooé‘-b‘?":' <. 0 ] v &
'o. 0. 0.
’ / Ny !

2-21

EHRRREE & A
X eb [ PR [ T A R HER (L)
Tt s & b e 0 1

2-22
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2-23

2-23
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Yes

No

Yes

No
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12

o 10 kg/ 3 2.6

p 10 kg/ @ 1.2

(0] ° 35 30 40

n 0.1

- 0.6

2 7
3-3

KN/m? KN/m? [0)
16 19 10 13 35 45 35
16 20 10 12 30 40 30
9 12 4 7 30 40 30
17 20 10 35 40 30 35
16 19 9 30 35 25 30
15 18 8 25 30 20 25
17 19 10 25 35 20 30
16 18 8 10 20 30 15 25
15 17 6 9 15 25 10 20
16 19 6 9 20 30 10 20
15 18 5 8 10 20 0 10
14 17 4 7 0 10 0
16 18 10 10 20 5 15
14 17 5 7 0
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25

3-4 KN/m?

6,000 600

4,000 400

() 2,000 250

() 1,200 100
59 11

35 N/mm

3 1.2 0.3 0.7
2 1.0 0.1 0.6
() 1 0.8 — 0.55
« ) 0.6 0.7 — 0.45
59 11
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3)
4)
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3-2

3-6

3-2
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Q=

C- ™

Ca™®

n 'Qsp ¥
B(sin 8)/*

0.01-C.V'
Cq

Vec'

Cd

m3/sec

m3

Ve’

%) Vee A
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ec’
:103-RT-A'[ Cd }fr
1 A 1 Cd

( 0.3 Cd 0.9C.)

Vec'

3-3
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Y
Y Qsp
3-4
[
Bi = 4 Qspi
B. ™
Qspi
70

0 3-5

200m

3-5
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Fa

Fd
Pd

p tang

d

p

*1

0 ™
_h*(sing J*?
h *2

6 "

n*

"~ tang  tan®

Fd
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3-6
3-7 3-6

Hy

IL

¢ J(H2.7)

| | COCOCOCOCOCOCOhCHhC
3-6
3-7
(
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5-1

5-1

5-1

15m

15m
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HHEER

HAEEL

R ETTER

w2
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12

200 3
200 500 s

1 10
1 10 1 30
1 30 1 50

H

10

0.6
0.8

0.5
0.4
0.3
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0.1

30°

h(out)max

h
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10bu?/rg




h(oufimax=ho 2 b u? rg
h(outymax=ho b u? r g

ho m

b m

u m/s

r m

g m/sz2 g 9.8
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0 45° 45°

TEREE

7-2
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7
)
142
74
1
2 7
139
51
78
78 2

11

338

138

51
75
72

138

25
142 7 8
1 5 36 2 39
62 71 1 72 73 1
79 3 7 51 1 62 71
74 75 80
136 6 139 3
1 1 36 2 39
52 3 5 70 6 76
79 4 76
7 51 71
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72 74 75 80 2 115
1 6 7 5 4 3 7 8
1
12 5 31 1449
12 12 26 2465
25 338 139 3 140 141
2 142 143
138 1 5
37 16 7
5 1
8
15 6 10
)
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3 2
2
25 338 90 1
91 93 94
3
7 1 6

2m 142
142 139 3
7 12
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© ®

)

20m
40m
2m

(Lme)

Q)
@

(ve' )
1,600m?
(Vec)

(vec)
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(Ve ) Vec




3

Q

©) 0.5ibh

©

(B) bde2ih

(B) bde2ih
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Ve (9,100 ) Vec(23,673 ) Q Ve 9,100
1
b(m) | de(m) | Ae( ) Lme(m) Ve'(m®)
0 3.0 0.5 15 600 900
1 40 15 6.0 600 3,600
2 5.0 2.0 10.0 300 3,000
20mx 40mx 2m 1,600
I | I 9,100
2
Akmd) | Rl )} 00| Cd | Vec(m?)
A 0.30 300.0] 100] o0.30] 037 23,673
®)




de

1/

1,000m*

59



(0)) (C+D+B)
3
E CD B - 9,10(Q) 1,000(E) 4,500(C) 1,200(D) 2,860(B)
8,100 8,560
3
b lde ]| h|b] b, b, 1/n L c D B C+D+B
MJm]m|m] m | m m | m) | m (m?) (m?)
- -1 -1 - - - - - - - 1,600] 1,600
5 ) 1| 40l 15| 20] 150 100] - 30] - - - 360] 360 72m°
2 | 50] 2.0]100[ 450 350 200 45| - 4500] - 900] 5400
2 15mx 40mx 2m - - 1,200 - 1,200
2 - [ -1- - - - 400 - - - 0
4,500 1,200 2.860] 8,560
1,000m*
(by) by=(b,+b)/2 b,

(b27)
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